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(d) Finally, prove that the sum of the measures of the three angles in AABC is just
LFBC + LGCB.

33. Now prove that under HAA, the angle sum of a triangle must be less than 180°.
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31. Under HAA, prove that if ABCD is a Saccheri Quadrilateral as shown, then AB = CD . How +o uz  #AA 7
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(a) For future reference, consider isosceles AFGH where FG=FH =1 and GH =x .
Suppose also that ZGFH = 36°. Construct GJ bisecting ZFGH. Use similar triangles to
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44. Explain how you could find 100 consecutive numbers, none of which is prime. How about a
billion consecutive non-primes? (HINT: Factorials!)
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